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2008-09 District Competition

Match #23 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
He came to the assistance of the Tarentines in southern Italy, and won the battle of Heraclea. Despite also winning at Beneventum, he had to abandon Italy and return to Epirus. What king is the namesake of a word that describes extremely costly victories? 

ANSWER: Pyrrhus of Epirus

2.
Its composer said years later, ‘it was my wish … to make a debut in a brilliant manner.’ In German, it is called the ‘Symphony with the kettledrum stroke.’ Early in the andante second movement, a loud chord can be heard in what symphony by Joseph Haydn?

ANSWER: Surprise Symphony
3.
He spent most of his life living on Homer Zuckerman’s farm. A sheep told him that he was scheduled to be eaten at Christmas. The runt of his litter, he became the pet of Fern Arable. In Charlotte’s Web, who was called ‘Some Pig’? 

ANSWER: Wilbur the Pig

4.
This novel is set between April 6 and 8, 1928, save for Part Two, which is a flashback to 1910. The fourth part focuses on Dilsey, and the other three parts are narrated by Jason, Quentin, and Benjy Compson. What is this novel by William Faulkner?

ANSWER: The Sound and the Fury
5.
It was called Type IV (four) in the former Soviet Union, based on Jan Jansky’s classification. People with it have no immunoglobulin M antibodies in their blood. What blood type has both of the common antigens and is the universal recipient?

ANSWER: blood type AB
6.
The fourth one of these is 8128.  The third one is 496.  The second one is 28 and the first one is 6.   All have one thing in common, the fact that the sum of their factors, other than the number itself, equals the number.   What do we call all of these numbers?  
ANSWER:  perfect

7.
Its tributaries include the Atbara River. It flows through six cataracts between Sakaloba and Aswan. Its delta is formed by the Damietta and Rosetta Branches. Its two ‘colorful’ forks, the Blue and White, meet at the city of Khartoum. What isn’t just a river in Egypt? 

ANSWER: Nile River


8.
Annie Gottlieb wrote about the secrets of this four-letter word. Gene Ray says it is the source of all knowledge. Varieties in pop culture include gelantinous and Borg. What word refers to a regular hexahedron or to the third power of a number? 

ANSWER: cube
9.
His wife is Sif, and his sons are Modi and Magni. He will slay, and be slain by, the serpent Jormungard (YOR-moon-gard) at Ragnarok. The hammer Mjolnir (mee-YOAL-neer) belongs to what Norse god of thunder? 


ANSWER: Thor or Thunaer or Thunor or Donar
10.
Characterized by low differences in electronegativity, they are represented in Lewis structure by a line or by two dots.  Sigma and pi bonds are examples of them.  Name this type of chemical bond that involves atoms sharing electrons.

ANSWER:
covalent bond

11.
Her short stories include ‘The Circus’ and ‘The Jilting of Granny Weatherall.’ What author of the novella Pale Horse, Pale Rider also wrote a story about a trans-Atlantic voyage to Nazi Germany, Ship of Fools? 

ANSWER: Katherine Anne Porter
12.
Its marketing slogans have included ‘Free to Be’ and ‘Get into It.’ Its first original program was the season opener of America’s Next Top Model in 2006. What network emerged, along with MyNetwork, from the merger of UPN and the WB? 


ANSWER: The CW
13.
This region’s highest peak is Snowdon. The Isle of Anglesey is to the northwest. Gwynedd is one its counties, and cities include Swansea and Newport. Cardiff is the capital of what region of the United Kingdom? 


ANSWER: Wales
14.
It is a non-classical angular momentum first explained by Paul Dirac in his equation. For the Higgs boson, it is zero; for the gravitron, it is two; and for the photon, it is one. What is this concept of quantum physics? 

ANSWER: (quantum) spin
15.
One man with this name was the beggar who lay at the gate of a rich man in the Gospel of Luke. What name is better-known as the brother of Mary and Martha that, in the Gospel of John, was resurrected by Jesus? 

ANSWER: Lazarus
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Who was the head football coach at the University of Virginia between 1982 and 2000?


ANSWER: George Welsh
1B.
In what poem did Ernest Lawrence Thayer write, ‘But Flynn preceded Casey, as did also Jimmy Blake’?


ANSWER: ‘Casey at the Bat’

2A.
Lewis and Clark weren’t the first to cross North America above the Rio Grande. What Scottish namesake of a major Arctic river was the first, doing so in 1793?


ANSWER: Alexander Mackenzie
2B.
What vitamin is synthesized in the skin?

ANSWER:
Vitamin D
3A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Consider the following sequence of terms consisting of a whole number divided by a fraction: 
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    Expressing as an improper fraction, find the 9th term


ANSWER: 22/9 
3B.
Nixon took the U.S. off the gold standard for good in 1973 when he took the dollar off of what exchange rate mechanism set up after World War II?


ANSWER: Bretton-Woods
4A.
What phenomenon occurs when air picks up moisture over bodies of water and then dumps it as snow over cooler land? 


ANSWER: lake effect
4B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Solve this inequality for all values of X:  The absolute value of the quantity 3X – 2 is less than 10.


ANSWER:  -8/3 < X < 4  or   all numbers between -8/3 and 4 excluding the two endpoints
5A.
What are the English language’s three articles?


ANSWER: a, an, and the
5B.
The album One of the Boys was released by what singer that had a summer hit with her song about lesbian experimentation? 


ANSWER: Katy Perry
6A.
How many atoms are in a molecule of ethane?

ANSWER:
8 

6B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Work the following and give your answer in scientific notation:  52 times 310 times 8110 times (1/3)40 times (10/3)10.  


ANSWER:  2.5 x 1011
7A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  In right triangle ABC the tangent of angle A is 5X over 3.  If X has a value of 7, find, in reduced terms and simplest radical form, the secant of angle A.  


ANSWER:  the square root of 1234 / 3
7B.
What philosopher sought a happy, tranquil life in the absence of pain and fear, and is the namesake of a philosophy that taught that pleasure was the ultimate good?

ANSWER: Epicurus
8A.
What creature was terrorizing the good citizens of Lerna and required Heracles to kill it? 


ANSWER: hydra
8B.
Spell out the French translation of the English phrase, ‘yellow cat.’

ANSWER: c h a t  j a u n e (shaht ZHOHN)

9A.
What does the acronym ‘CPI’ stand for?


ANSWER: consumer price index
9B.
What dynasty ruled the Islamic world between 660 and 750?


ANSWER: Umayyad(s)
10A.
What is the ship Squire Trelawney obtains to find Captain Flint’s treasure in Treasure Island? 


ANSWER: Hispaniola
10B.
Its version 1 was an adaptation of Spyglass Mosaic. In March 2008, what program’s beta version 8 was made available to the public? 

ANSWER: Internet Explorer or IE
Third period, 15 toss-ups, 10 points each

1.
It is the largest sesamoid bone in the body. Three vastus muscles connect to it. Being a sesamoid bone, it is entirely within a tendon, and it helps extend the hinge joint it is located in front of. What is this bone, also known as the kneecap? 

ANSWER: patella (accept kneecap before it is said)

2.
The Heart Machine and the M-Machine are among the technologies in this film. Characters include the evil scientist Rotwang, the ‘Mediator’ Fredersen, and the evangelist Maria. What Fritz Lang movie is set in a dystopian, futuristic city? 


ANSWER: Metropolis

3.
This novel’s protagonist becomes Leni’s lover after being rejected by Fräulein Bürstner. The lawyer Herr Huld cannot prevent the protagonist’s execution. The arrest and prosecution of Josef K. for an unnamed crime occurs in what novel by Franz Kafka? 

ANSWER: The Trial
4.
This labor dispute came to a head on July 23, when anarchist Alexander Berkman shot and stabbed Henry Frick. What was this 1892 labor dispute between the Amalgamated Association of Iron and Steel Workers and the Carnegie Steel Company? 

ANSWER: Homestead Strike

5.
THIS IS A 10-SECOND COMPUTATION QUESTION. One store is offering a ‘buy one, get second half-price’ deal on shirts. Another store is offering a ‘buy one, get 70% off the second’ deal on the same shirts. How much money would a shopper save by buying two shirts at the second store, if the list price is $40? 


ANSWER: $8
6.
A student of Arnold Sommerfeld, this discoverer of isospin won the Nobel Prize in Physics in 1932 for his work on quantum mechanics.  He was head of the German effort to build an atomic bomb.  Name this physicist known for his uncertainty principle.

ANSWER:
Werner Heisenberg 

7.
Caused by refraction, the inferior type is not stable.  The superior type is formed by temperature inversion, is often seen in polar regions, and is also known as Fata Morgana.  Name this optical phenomenon often experienced in deserts.

ANSWER:
mirage(s)

8.
This play describes the practice of Bunburying. Its difficulties are resolved when Miss Prism remembers she left a baby boy in a handbag. Jack and Gwendolen pair off, and so do Algernon and Cecily, in what play by Oscar Wilde? 

ANSWER: The Importance of Being Earnest
9.
When she died, the other passengers in the car were Henri (awn-REE) Paul, Trevor Rees-Jones, and Dodi al-Fayed. In 2007, an inquest was re-opened into the 1997 death of what woman, the former Princess of Wales? 


ANSWER: Diana, Princess of Wales (accept Princess Diana)

10.
He defeated Jorge Allesandri in the 1970 Presidential elections, but his reign was hampered by CIA-sponsored strikes. He was the first open Marxist to gain power through elections. On September 11, 1973, a military coup overthrew what President of Chile? 

ANSWER: Salvador Allende Gossens

11.
Established in 1892 in San Francisco, its current executive director is Carl Pope and in 2006 it formed the Blue-Green Alliance with the United Steelworkers.  Name this environmental organization founded by John Muir.

ANSWER:
Sierra Club
12.
It is 630 feet wide at its base and is 630 feet tall. It is part of the Jefferson National Expansion Memorial, along with the Old Courthouse and the Museum of Westward Expansion. Eero Sarinen designed it. What tallest monument in the world is in St. Louis? 


ANSWER: Gateway Arch
13.
This word comes from Latin words meaning ‘well’ and ‘doer.’ Examples include college alumni and large donators to public television. What word refers to someone that gives a large gift? 

ANSWER: benefactor
14.
This economist got the nickname ‘Helicopter’ for a 2002 speech on how to fight deflation. He was chairman of the Council of Economic Advisors between 2002 and 2005. In 2006, who replaced Alan Greenspan as Chairman of the Federal Reserve? 


ANSWER: Ben Bernanke
15.
In 1921, West Virginia became the first state to enact one. It is different from a value-added tax as it is only paid by the final consumer and not on every exchange. The FairTax Act proposes to install a national form of what tax levied upon retail goods? 

ANSWER: sales tax
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Consider the polynomial X3 – 4X2 – 7X + 10.  What is the degree of this polynomial?


ANSWER:  third
2.
It was built in 1383 as a fortress during the Hundred Years’ War. It became a prison, but at the time of its closing around four centuries later, it held only seven prisoners. What building was stormed on July 14, 1789, starting the French Revolution? 


ANSWER: Bastille
3.
This poem includes a twelve-line epitaph. It introduced the phrases ‘the paths of glory,’ ‘far from the madding crowd,’ and ‘kindred spirit.’ The line, ‘The curfew tolls the knell of parting day,’ opens what poem by Thomas Gray? 

ANSWER: ‘Elegy Written in a Country Churchyard’

4.
Samuel Henshall invented it, basing his design on an implement used to get unfired shot pried loose from a musket. Types include the wing, the butler’s friend, and the waiter’s friend. A pointed metal helix is at the heart of what implement used to open wine bottles? 

ANSWER: spatula(s) or fish slice
5.
It is called isoglucose, but little-used, in the European Union. Its increasing use in the US is due to transport ease and lower cost due to sugar tariffs. What sweetener and sugar replacement is made by an enzymatic process using a beginning ingredient of starch? 

ANSWER: high-fructose corn syrup
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